2nd BIO Quiz 1427
Part 1: choose best answer:

1- Silencers are:

a- protein factors

b- cis acting element

c- extensively acetylated

d- important for the regulation of prokaryotic gene expression

e- should be near to the promoter

2- Regarding RNA polymerase in eukaryote all the following are true, EXCEPT:

a- RNA poly. 1 form large rRNA

b- RNA poly. 1&2 forms snRNA

c- RNA poly. 3 forms tRNA

d- RNA poly. 2 form mRNA

e- Mitochondrial RNA poly. Resemble bacterial RNA poly.

3- Regarding eukaryotic ribosome:

a- large subunit 50 S

b- small subunit 30 S

c- total subunit of eukaryotic ribosome = 80 S

d- large subunit contain 30 protein
e- Small subunit contain 28 proteins

4- Post modification of mRNA include all the following, EXCEPT:
a- ribonuclytic cleavage

b- addition of poly U tail

c- addition of 5 Cap

d- removal of introns

e- splice of exons

5- regarding codon:

a- read from 3' ( 5' direction

b- consist of 3 consecutive base pairs on mRNA

c- consist of 2 complementary base pairs

d- found on codon loop in tRNA

e- code for more than one amino acid (degeneracy)

6- lactose operon:

a- it is inhibit by lactose
b- involve both +ve & -ve regulation

c- lactose is used in preference to glucose

d- available of glucose stimulate the expression of genes

e- code for 3 enzyme responsible for synthesis of lactose

7- intron:

a- coding region that splice from mRNA

b- separate two gene

c- parts of mRNA which have to be excised during post transcription modification

8- Regarding eukaryotic RNA:

a- mRNA ( 5% of the total RNA
b- tRNA carry messages from the nucleus to the cytosol

c- RNA longer than DNA

9- according (rho) dependent termination:

a- (rho) factor has ATP helicase activity

b- Need palindromic sequence on DNA

c- The RNA transcript form stable hair pin turn

10- regarding eukaryotic transcription:

a- acetylation of histones facilitate formation of euchromatin

b- methylation of DNA ( active chromatin

Part 2: True or False:

1- Transcription factors are trans acting elements (T)
2- SLE produce antibody against hnRNA (F)
3- Actinomycin D is an antibiotic bind to B subunit of prokaryote RNA polymerase (F)

4- Frame shift mutation is the insertion of 3 or multiple 3 into nucleotide sequence (F)

5- Specifty Amino-acyl RNA synthatase is responsible for the high fidelity of protein synthesis (T) 
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